III. 0oog I

IIT1 00000000

OooooobOoOoboboooooIbboon0 1300000000

00 3.1. 00000 f0 «0D000 (000)Y 00000000000
0000 20000 f(z) < fa) (f(z) 2 f(a)) 00000000000

032 e 00 fzx)=2'02=000000000
e U0DOD RO C>~-000000 ADODO fMO)=00000
e~ 1/1z] (z #£0)
0 (x=0)
00000 213000000000 c=000000000 ¢

fz) =

00 3.3. 00000 f0«0000(000)2000000000000
000 e00000000000f000000000000<|z—al<e
0000000 200000 f(z) < f(a) (f(z) > f(a)) 000000

000 “%00000 20000 f(z) < fla) (f(z) > f(a)) DODOOD”
goboboobobooobooon
034. e 00 f(z)=|2/0 2=0000000000000000
e 000D fU02x=0000000000000000
1 (x#0)
0 (z=0).
e 00 f(z)=2°-320 x=-1000002=100000000¢

flz) =

"20170 120 180/220 (20170 10 22000)
0000 the maximumO 000 O the minimum.
2)0000a maximal; a local maxima; 00 00Oa minimal; a local minima: 00 0Oan extremal.
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" 0000000
00 8.5.00 f0 2z=e¢0000000 C*-0000 30
A. f(z)0 z=¢000000000000000000000f/(a)=0
oooo
B. (ADDO) f(a)#00000f(z) 0 r=e¢ 0000000000
oooo
C. f(a)=0, f'(a) >0 (f"(a) <0) 00000000 f(z)0 a =al
000000000000
0 3.6. f(z)=2%—3: 000000000 f/(z)=3(x—1)(z+1)000
f(x)=0000000000000000 z=1000 z=-10000
000000D035BO0 1, -1 000000 f00000000000
O f/(z)=6z0000f(1) >0, f/(~1)<00000000035CO0
f(z)0 2=10000 -2, z=-10000 20000 o
00 8.7 e 0035A00000000000 fz)=2%0000
e 00350 CODO0O0D00O0D0OO0O0340000000000

m 00350BO0O000O0O0O0O0O0O0O0O0O0O0O0O0OM m=f(e) 000
O00m>00000000000000000000021000m= f'(a)
gbooaod

=0

(¥)  fla+h)= f(a) +mh+ Ry(h) oooo }1}3% th(h)

000000 Ry(h) 0 hODOODOODUDD mhOODOOOODOOOODO
Oo0o0oO0 pOO0O0ODODOOOOOOOOOOO

fla+h)—fla)=mh (hODD0D0000O)

D00Y00m>000000000000 A>000000R<000
Oo0o0oo0o0ooooooeAOOOOODODOO

fla+h)>f(a) (Rh>0000 ); fla+h)< f(a) (h<0DODO)

3)p0000000000000000000000 A,BO f0 «000000000000000
O0OCO f0 200000000000000
Ye«zr 0QOOO0O00O0
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000000000000 00000 “0< |hl<e000 flath) > fa)”,
“0O<|h|<eD0D00 fla+h)< f(o)) 000D00000D00000000OO
000000 fO0z=e000000000

" 00350BO0000000000000000000M m>000
00() 00000000 |Ry(k)/(mh)|0 O 0000000 00000
00000000 60000000

<7

(xx) |h| < & ooo 5

mh

Rﬂm‘ 1

O00000000000m>0000 (xx) O
1 1
|h| <& 000 —§m|h|<R2(h)<§m|h|
000000000000 0o (x) o0
1 1
|h| <& ooo mh—§m|h|<f(a—|—h)—f(a)<mh+ §m|h|
O000000000<h<dOOOOlR=A0O0O0O0O
1 1
f(a+h)ff(a)>mhf§mh:§mh>0,
0>h>-600 |o|=-h0D0DO
1 1
f(a+h)—f(a)<mh+§m|h|=§mh<0

0000000000 00000 |h|<eD000 fla+h)—f(a) OO
00000000000000000000000000

" 00350CO0000000000000000 m=f"a)0
0000m>00000000000000000000000 (f/(a) =
0,f(a)=m 000000

R3(h)
h2

f@+h%:ﬂ®+%mW+Rﬁm oooo lim

h—0

=0
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000000 Rs(h) D ROODOUDOOO %thDDDDDDDDDDDD

O0000 ROODOODOOOOOOOOOOOO
1
f@+®—ﬂ@¢§mﬁ (hOOD00DO0OD0NO)

O00000m>000000000000 AR£A0000000O00O0DOOO
oooooooooeAOOOooooOoO

fla+h)> f(a)

O0000O0f(x) 0 z=e¢00000000m<000000O00OO0OO

II1.2 2000000000000

oboboboobo2000000000000000DO0O00DO0O0O0ODO
oobooooooooDon
0000000 ROOCOO

R? = {(z,y)|2,y 000 } ={(z,y) |2,y c R} 000000
00000 (e,b) e RP0000 0000
Ue(a,b) = {(z,y) € R*|(z — a)* + (y — b)* < £°}

00 (a,b) 0 e-00%Y0000R’00000 UDOODOOODOODOO
0 (a,b) eU D00000000DO e0000 U(a,b) cUDDODOOO
000000 RP°00D0O0UDODO0®00000000020 P, QeU
0 Uy0000000000D000D0000000000000000000
R’00000000000 0070000

00 DCR*00000000 fO (e,b) e DOOODO (0DODO)ODO
D00D0000000 ed0000000 (z,9) € Us(a,b) ((z,y) # (a,b))
0000 f(zx,y) < f(a,b) (f(z,y) > f(a,d)) D0DO0DOOO0OOODO

5e-000an e-neighborhoodD 0 000 an open set.

G)DDDconnected; 0000000000000 00000 pathwise connectedness 000000
O0O0R" 000000000000 OOOOOOOODOOOODOO

7000 a domain.
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ooobooilobooooooboooooooooo3sobounoooooo
20000000D000O0O00O0DOOO0ODOOOOO

m 2000000000000 10000000000 350000000
goboboboboboboboboboooboo 92100 200000
oobobooooobooooooo200000000C0000DOO000000

00 3.8 (2000000000000). 20000 £0 (z,y) = (a,b) O
00000 ¢c~-000000000000

B of of

(1) flathb+ k)= fla.b) + G (@bh+ 5 (@b
1(0°f 2 o f % f
+3 (W(a7b)h 25 5@ bk 5 (o )k ) + Ry(h, k)
goono ( )
Ry(h,k)
(h,k)1—>m(o,o) h2+ k2 0

gooood

000000000 (a,b) 000 (hk) 0000010000 F(t) = f(a+th,b+tk)
O00DO0OFO[0,1]0 C*-0000000F00000000 1.190000000

F(1) = F(0) + F'(0) + %F"(O) + ,F’”(e) 0<f<1)

3!

000000 ¢ 0000000000000000000000000000 ®00
00000 F(0) = f(a+ 0h,b+0k) = f(a,b),

af of

F'(0) = 8&:( ,D)h + 87( ,D)k
2 f o’ f f 2
F'(0)=%5=(a ,b)h? +268( b)hk+ﬂ( bk
1" Bgf 3 agf 2 agf 2 a f
F(0) = 550" + 3505 Wk + 35 5 Sk + 5 5k

00000000000 DoO000o0oDoO (e+6hb+6k)00D0OO0O0O0OODO f
0O C*-00000f00000000D0ODODOODDOOOODDODOOODOOO

lim °f o’ f
(h,k)—(0,0) O3 Ox3
8)000000000¢the chain rule, 100000 40000 4.2.400

(a + 0h,b+ 0k) = <L (a,b)

0 IO (20171222) 30

00000000000 (hk) = (rcost,rsint) (r>0) 0000 (h,k) — (0,0) O
oo0r—0000

83 h2+k2 83

O00O0O0F”(e) 000000000000 lim  F"@)/(K°+k) =00
(h,k)—(0,0)

(Sf(a-i-@h b+ 6k) e )—(63f(a+9h b+ 0k)r cos® t)—)O

oo

00 3.9.00380200000 fO0O0O0O0OOOOODOOOOOOOO
(3.1)0 A, kOD00OD 1000000O00O0O1IDOD0O0ODOOOD

0 0
(3.2) fla+h,b+k)=f(a,b)+ é(mb)h—k %(a,b)k + Ry (h, k),

(hk)=(0,0) v/ h2 4 k2
oooooobogoood

00 3.10. O0O0O00O0OO (3.1)0000000OAR kD 10000

(esgen)()-en (v

000000000 df(a,b) = (fa(a,b), fy(a,b)) O (a,b) 0000 f0O O
0090000000 h k0200002000

fza(a,b) facy(aa b) h t
3.3 h,k = "h Hess f(a,b)h,
(33) ) (fyw(% b) fyy(aab)> <k> fla.t)

fyz(a,b)  fyy(a,b)
O00000000 ‘000000 AODOOOOOOODOOOOO
00000000000000000 ' 000Hess f(e,b) 0200000
0ODWOOooO0o0o0d £0 (e,b) 00000000 DO Y 0O0OO0

0000  Hessf(a,b):= <fm(a,b) fay(a, b))

90000 the total differential]2 0000 flz,y) 0000 df := (fe, fy) O fOO0O0DOOD
00000000 ¢(z,y) = 2, P(z,y) =y 000000000 (1,0), (0,1) 000 dz = (1,0),
dy=(0,1) 00000000000 df = fade+ fydy 000000000
0)0popoD00D000000 40000 4.3.100
oooOdOda symmetric matrix.

2)0 00000 the Hessian matrix; Hesse, Ludwig Otto, 1811-1874, de.
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m 2000000000

00 3.11. R°000 DOODOOOD C>~-000 f0O (a,b) e DODOO

oooooon
g(a,b):() 00

of
oz oy

(a,b) =0
gooooo

00000 f0 (e,b) 0000000000000000000 e000000AR%+k2<
2000 fla+hb+k)> fa,b)0000 |hl <eDOO f(a+ h,b) > f(a,b)
000 F(h) := f(ae+hb) 0 h=0000000000000000 3500
F'(0) = fo(a,d) 0 00000000 G(k) = f(a,b+k) 00000 fy(a,b) =00
ooooo O

00 3.12. RROO0 DODOOOOO ¢®°-000 fO (a,b) e DOODOO

g(a,b):o oo Y

Ox Oy (a,) =0

gbgboobooooooaobaod

f, 0 f ?
A= @(a,b)a—yz(a,b) - <8x8y (a,b)) = det Hess f(a,b),

A:= —>(a,b)

gboaod

e A>000 A>0000 f(z,y) O (z,y)=(a,b) 00000000
e A>000 A<0000 f(a,y)0 (2,y)=(a,b) 00000000
e A<0000 flz,y) O (z,y)=(a,b) 000000000

gboobogobooooooobooban

00 3.13. hO k00O 200
(%) o(h,k) == AR® + 2Bhk + Ck* (A, B,CO00D0)

gooo
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e 00O (hk)#(0,000000 ¢h,k)>000000000000
00 A>000 AC-B?>00000
e 00O (hk)#(0,000000 ¢h,k)<000000000000
00 A<000 AC-B?>00000
e ©o00D0DO0ODDODODOOOODODODODOODO AC-B2<0
0oooooooo
e IDODODAC-B?=0000000¢0000000000¢=0
0o0oooo (hk)#(0,00000000
goo20000000
A(h+ZR)" + A5 K2 (A 40)
p(h k) = C (k+ Bh)* + A2 02 (C £0)
2Bhk (A=C=0)
oooooa O

0038.1200000000000000000 3800000
; R3(h, k)
(h,k%lin(o,o) h? + k2
000000000 A:= fu(a,b), B:= fay(a,b), C:= fyy(a,b) 0000
¢(h, k) := Ah® + 2Bhk + Ck®

O0000R+K* 000000000 |Ra(hk)| O |ph, k) 000000000
fla+hb+k)— f(h,k) O 2o(h,k) 00000000000 3130000000
ooo O

=0

Fla+hb+k) — f(a,b) = égo(h, k) + Ra(h, k),

III.3 00000000

000 R"O00D DOODOOOO C~-000 fO00000O a::t(xl,...,xn)
000 f(x) 0000000000000 0ODODODOOOOOO 3.8000
oooooooo

(3.4) f(a+h)= f(a)+df(a)h + %th Hess f(a)h + R3(h),

iy Ba(h)
wisp Thrr =0
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goooooo
0 0
df (a) = (axfl(a)7 ol 81{; (a)) ,
0% f 0% f
0r12 (a) T Ox 0z, (a
Hess f(a) =
0% f 0% f
0z, 011 (a) 0,2 (a)
goooo

00 3.14. e f0a000000000 df(a)=00000
e df(a)=000 Hess f() 000000000 (0)000 fO a0
000000000000
e df(a)=000 Hess f(@) 0000000000000 f0 a0
oooooooOo

00000000 2000000002000000000000
0oooo (a,...,z,) 0002000 (pR000)2000000020
ooo

n
@(ml,...,xn) = E Qi T7T 5
i,j=1

00000000000 ze; =22 000000a; 0 a; 000000
000000000000000000000 200000000

n
o(T1,. .., Tn) = Z QAijTiTy, (aij = aji).
i,j=1

000000000 ="(z1,...,2,) 00000 A= (a;) 0000
(3.5) o(x)="zAz (ADDODDOODO)

000000000000 A02000 000000000
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00 3.15(0000000). e JOOOOODOODOODODOOOOO
oooooo

e J0O0ODODUUUIODODDOD ADODDODOUOUODODDDDODODO

O0000o0oooooo0oooooOnD ADODOoOooooooO pPoOODOOO

w0 0
‘PAP=| . (‘tPP=E=0000)
0 0 ... up

00000000 wp,..., 4,0 ADDDODOODOOOOOODOODOODOOO
oo

X ="X,...,X,) ="Px

000002000 (35) 0
o =mXP+ -+ X5

oobooooooooooo

e i1,...,u, 000000000000 00000000 20000
e(x)>000000000002000 (3.5) 0000000000
ooo

e i,...,u, 000000000000 00000000 20000
o(x)<000000000002000 (350000000000
ooo

e u1,..,u 00000000000000000O0O0OO0p(x)0O
obobobooboobon
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I1I-1

I11-2

I11-3

I11-4

I11-5

I11-6

I11-7
I1I-8

II1-9
I11-10

I11-11

I11-12

O O II1

(1) 00 f(z)=2'0 z=0000000000000000000 3.200

(2) C*-000 f0 z=e¢0000 (10020 ...) 00000000 f
0¢=¢00000000000000000000000000000
000000000000000000000000000000 3.20
0ooooo

(3) 00 f(z)=|z/0 +=0000000000000000000000
000000 3.400

00 f(z)=2*—-2:>0000000000000 (D0OODOODO)00O
000000000000000 fO00D00D00000000

(1) 00350 A(B)00OOD0D0OO0OO00OOO000O000O0O000 3.700
(2) DO0350 COODODDOOOD0OO0OODOOOOOOOOO0 3.700

00 f(z) =24+ pz® +q2* (p,qU000)00000000DODOOOOO30
000 f(x)=0000000000000000030000000000
000010000000000000000000030000000000
ooooo

00350 BO0O00O0O0O0O0OO0O0OO0O0O0O0O0O0O0O0 m<0O0OOOO
goooooboo

00350 COO000000000D0000O000O000OOO0OOO0DO0
00350000 f(a)=0, f(a)=000000000000000
00000 R2000O0OD0O

R®, {(z,y) € R’|y>0}, {(z,y)€ R*|y=0},
{(z,y) e R*|2* +y* #1}, {(z,y) € R*|2*+y* <1}

00 3.13000000000000

flz,y)=2® —xy+y> 0000

e fu(z,y)=0, fy(z,y) =0000 (z,9) 00000000O0OO0OO0
000000000000

e 00000 (2,y) 000000 3120000000000000000
000000 f(z,y) O (z,y) = (1/3,1/3) 0000 —1/27 0000
000D00000000000Mm

00 f(z,y) = (e +by?)e ¥ 000DO0DOO0ODOOO @ bO00

0000000000 7400000 1000

00 f(z,y) =a"+2%* +¢y" — 2>+ 0000000000
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IT1-13

R’000 DOOOOOODODO f(z,y) D0DO0D ¥ OOODODODOD OO
foz+ fypy =0000000000000000 0200000 fe O D
0000000000 f0 DOODODDOOOOOOOOOOOOOOOOOOO

3)00000a harmonic function.



